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QUESTION 1

Which statement is NOT true if the /etc/exports file contains the following entry?
Ivolivol72 -ro=host1:host3, rw, root=host2

A. Read-write access is granted to all the hosts except hostl and host2.

B. Read-only access is granted to both hostl and host3.

C. Root access is granted to host2.

D. Only host1, host2, and host3 can access /vol/vol72.

Correct Answer: D

QUESTION 2

What command would create a LUN clone named lun0.clone from the LUN lunO on the volume vol2?

A. llun clone start create /vol/vol2/lunO.clone -b /vol/vol2/lun0O snap_recent

B. llun clone create /vol/vol2/lun0.clone -b /vol/vol2/lunO snap_recent

C. llun clone create /vol/vol2/lun0 -b /vol/vol2/lun0.clone snap_recent

D. llun clone create /vol/vol2/lun0.clone -b /vol/vol2/lun0 -s snap_recent Complete collection of NS0-145

Correct Answer: B

QUESTION 3

Which two are benefits of storage virtualization? (Choose two)

A. Storage virtualization the server cost

B. Storage virtualization lower the TCO (operational and management cost)

C. Storage virtualization allows multiple operating systems and applications to run on a single system
D. Storage virtualization can allow storage resources to be logically pooled managed

Correct Answer: BC

QUESTION 4
CIFS clients can resolve symbolic links created by NFS clients on the storage system.

A. True
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B. False

Correct Answer: A

QUESTION 5

Which command will show the FCP target(s) on a storage system?
A. lun show -v

B. fcp show adapter

C. fcp show all

D. lun stats

Correct Answer: B

Latest NS0-145 Dumps NSO0-145 PDF Dumps NSO0-145 VCE Dumps

Latest NS0-145 Dumps | NS0-145 PDF Dumps | NS0-145 VCE Dumps 3/3


https://www.pass2lead.com/ns0-145.html
https://www.pass2lead.com/ns0-145.html
https://www.pass2lead.com/ns0-145.html
http://www.tcpdf.org
https://www.pass2lead.com/ns0-145.html
https://www.pass2lead.com/ns0-145.html
https://www.pass2lead.com/ns0-145.html

